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nNEES = | EED ENE3 ENEL ENES
EAT-C2&E (B) 652 720 793 862 929
ARSI T 27 o7 o7 o7 o7
EEAHNE T 1 6 6 6 6 6
%E SRS T 18 18 18 18 18
NERENBAENE 8.3% 8.3% 8.3% 8.3% 8.3%
RRREE 22,840 25,050 27,422 20,663 31,840
= e 820 820 820 820 820
& B 300 300 300 300 300
Hit (30H) 56,440 58,650 61,022 63,263 65,440
E 2B (ERFFERRLSEC. e Eanain8 0BMUTO)
NEE SNEA TINE2 ZNESI ZNE4 ZINED
EAT-—C2& () 652 720 793 862 929
RENENE T o7 o7 o7 o7 o7
EEAHNE T 1 6 6 6 6 6
735_9 RS 18 18 18 18 18
MERSLEWENS 8.3% 8.3% 8.3% 8.3% 8.3%
RRRSE 22,840 25,050 27,422 20,663 31,840
= EaE 820 820 820 820 820
& BE 390 390 390 390 390
Hit (30H) 59,140 61,350 63,722 65,963 68,140
EIME (ERFIFRRITET, SCEROSHN8 0BMEBZ 37)
nNEES = | EED ENE3 ENEL ENES
EAT-—C2&E (B) 652 720 793 862 929
ARSI T 27 o7 o7 o7 o7
EEAHNE T 1 6 6 6 6 6
72%9 SRS T 18 18 18 18 18
NERENBAENE 8.3% 8.3% 8.3% 8.3% 8.3%
RRREE 22,840 25,050 27,422 20,663 31,840
= B 1,310 1,310 1,310 1,310 1,310
& 0 650 650 650 650 650
Hit (30H) 81,640 83,850 86,222 88,463 90,640
= =) 1310 7310 1310 1,310 1310
& BEQ 1,360 1,360 1,360 1,360 1,360
Hst (30H) 102940 105150 @ 107,522 109,/63 111,940
FA4BEM E (ERBEER T EOH)
NEE SNEA ZNE2 ZNESI ZNE4L ZINED
EAT-—C2& () 652 720 793 862 929
RENENE T o7 o7 o7 o7 o7
EEAHNE T 1 6 6 6 6 6
735_9 RS 18 18 18 18 18
MERSLEWENE 8.3% 8.3% 8.3% 8.3% 8.3%
RRRSE 22,840 25,050 27,422 20,663 31,840
= B 2,006 2,006 2,006 2,006 2,006
& BE 1,445 1,445 1,445 1,445 1,445
Hit (30H) 126,370 128580 130952 133,193 135370
TENE (DD 5 30080 B 30
XIREDH ABISER 18 246
EEanNE 1@ 6
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